NEATH PORT TALBOT COUNTY BOROUGH COUNCIL

COUNCIL

REPORT OF THE DIRECTOR OF FINANCE & CORPORATE SERVICES – MR HYWEL JENKINS

1 MARCH 2017

SECTION A - MATTERS FOR DECISION

WARDS AFFECTED: ALL

COUNCIL TAX 2017/18

1 Purpose of Report

1.1 This report sets out the calculations and necessary resolutions to be passed in relation to the budget and the setting of the level of Council Tax for 2017/18 in accordance with the Local Government Finance Act 1992.

2 Issues for Consideration

- 2.1 The responsibilities of the Authority are as follows:
 - To carry out certain calculations in respect of its own budget and Council Tax levels (including Community Council precepts)
 - To add the Council Tax levels specified by the Police and Crime Commission for South Wales to the result of the calculation in above.
- 2.2 Consideration must be given as to the expenses incurred by this Authority in performing, in part of the County Borough, functions performed by Community Councils, elsewhere in the County Borough. It is recommended that such expenses be treated as the Authority's general expenses.
- 2.3 It is also necessary to consider the treatment of the levy issued by the Swansea Bay Port Health Authority. It is recommended that it is treated as the Authority's general expenses.

3 Calculation of the Budget Requirement

3.1 Section 32 of the Local Government Finance Act 1992 requires that, as part of its budgetary process, an Authority must formally calculate its "budget requirement" as follows:-

Aggregate of items under section 32(2)	£420,431,205	
i.e. expenditure to be charged to a		
revenue account, including transfers to		
reserves and Community Council		
precepts		
Less		
Aggregate of items under Section 32 (3)	£143,813,020	
i.e. income to be credited to a revenue		
account, including transfers from		
reserves, but excluding RSG and NNDR		
Equals		
Budget Requirement per section 32(4)	£276,618,185	

4 Calculation of Basic Amount of Council Tax

- 4.1 The Act require the Authority to make the following calculations:
- 4.2 Basic Amount of Council Tax (**inclusive** of Community Council Precepts)

This is calculated in accordance with Section 33(1) of the Act by the following formula

Budget requirement including the	£276,618,185
Community Council Precept	
Less:-	
Total of RSG and NNDR, less	£207,359,063
discretionary rate relief, in accordance	
with Section 33(3B) of the Local	
Government Finance Act 1992	
Divided by	
Council Tax Base approved at the	46,641.68
Cabinet meeting of 23 November 2016	
Equals	
Basic Amount of Council Tax	£1,484.92
(including Community Council	
precepts)	

4.3 Basic amount of Council Tax for areas **without** Community Council Precepts.

This is calculated in accordance with Section 34(2) of the act by the following formula

Basic amount of Council Tax	£1,484.92
identified in 4.2 above	
Less	
The aggregate of the community	£1,941,185
Council precepts	
Divided by	
Council Tax Base approved at the	
Cabinet meeting of 23 November	46,641.68
2016	
Equals	
Basic Amount of Council Tax for	
areas without Community	£1,443.30
Council precepts	

4.4 Amount of Council Tax for each area with a Community Council Precept.

This is calculated in accordance with Section 34(3) of the Act for each relevant area as follows:

Community Council precept
Divided by
Relevant Council Tax Base as approved at the Cabinet
meeting of 23 November 2016

The calculations for each Community Council are included as Appendix 1. The resulting amounts of basic Council Tax are as follows:-

Blaengwrach	£99.95
Blaenhonddan	£48.62
Briton Ferry	£76.65
Cilybebyll	£48.50
Clyne and Melincourt	£78.41
Coedffranc	£104.84
Crynant	£67.63

Cwmllynfell	£91.10
Dyffryn Clydach	£41.25
Glynneath	£99.50
Gwaun Cae Gurwen	£55.30
Neath	£51.79
Onllwyn	£60.41
Pelenna	£99.84
Pontardawe	£70.20
Resolven	£66.25
Seven Sisters	£77.36
Tonna	£32.67
Ystalyfera	£40.72

4.5 Calculation of Council Tax for Different Valuation Bands

Authorities are required under Section 36(1) to calculate the level of Council Tax for each valuation band in accordance with the following formula.

Amount calculated under section	33	or	34	as
appropriate				
Multiplied by				
The ratio of the band to Band D				

The ratios set out in Section 5(1A) of the Act are as follows:-

Band A	6/9
Band B	7/9
Band C	8/9
Band D	9/9
Band E	11/9
Band F	13/9
Band G	15/9
Band H	18/9
Band I	21/9

A table setting out the levels of Council Tax for each Band in each Community is provided in Appendix 2.

5 Police and Crime Commissioner for South Wales

5.1 The Police and Crime Commissioner for South Wales has issued the following precept:-

Band A	£145.50
Band B	£169.75
Band C	£193.99
Band D	£218.24
Band E	£266.74
Band F	£315.24
Band G	£363.74
Band H	£436.49
Band I	£509.24

The total precept payable is £10,179,276

A table setting out the levels of Council Tax, inclusive of the Police & Crime Commissioner for South Wales precept, for each Band in each community is provided in Appendix 3.

6 Recommendations

It is recommended that Council approve the following:

- a) That any expenses incurred by Neath Port Talbot County Borough Council in performing in part of its area, a function performed by a Community Council, elsewhere in its area, are treated as the Authority's general expenses.
- b) That the levy of the Swansea Bay Port Health Authority is treated as a general expense.
- c) The following amounts are calculated in accordance with Sections 32 to 36 of the Local Government Finance Act 1992.

Aggregate of the items estimated	£420,431,205
under Section 32(2) – expenditure	
Aggregate of the items estimated	£143,813,020
under section 32(3) – income	
Amount calculated in accordance	£276,618,185

with section 32(4) – budget requirement	
Aggregate payable in respect of redistributed NNDR and RSG, reduced in accordance with Section 33(3B) of the Act	£207,359,063
Basic amount of Council Tax in accordance with Section 33(1) of the Act	£1,484.92
Aggregate of all special items referred to in section 34(1) of the Act.	£1,941,185
Basic Amount of Council Tax for dwellings in those parts of its area to which no special item relates, in accordance with Section 34(2) of the Act	£1,443.30
Basic amounts of Council tax for dwellings in those parts of its area to which special items bands relates, calculated in accordance with section 34(3) of the Act	As per Appendix 1
Amounts to be taken into account in respect of categories of dwellings listed in different valuation, calculated in accordance with Section 36(1) of the Act	As per Appendix 2

d) That the Police and Crime Commissioner for South Wales has stated the following amounts in a precept issued to the Council, in accordance with Section 40 of the Act

Band A	£145.50
Band B	£169.75
Band C	£193.99
Band D	£218.24
Band E	£266.74
Band F	£315.24
Band G	£363.74
Band H	£436.49
Band I	£509.24

The total precept payable is £10,179,276.

e) That having calculated the aggregate in each case above, the Council, in accordance with section 30(2) of the Act hereby sets the amounts shown in Appendix 3 as the Council Tax for 2017/18 for each of the categories of dwelling shown.

7 Reason for Proposed Decision

To fulfil the statutory requirement to determine the Council Tax for 2017/18.

8 Implementation of Decision

The decision is proposed for implementation after consideration and approval by Council.

9 Appendices

Appendix 1 – Basic Amount of Council Tax

Appendix 2 – Amount of Council Tax for Neath Port Talbot CBC plus Community Councils, by band

Appendix 3 – Amount of Council Tax for Neath Port Talbot CBC, plus Community Councils, plus Police, by band

10. Background Papers

Local Government Revenue Support Grant settlement 2017/18. Precept Notices for Mid and West Wales Fire Authority, Police and Crime Commissioner for South Wales, individual Town and Community Councils and Other Precepting Bodies. Neath Port Talbot County Borough Council Budget Report. Cabinet Report of 23 November 2016 - Calculation of Council Tax Base For 2017/18.

11. Wards Affected

ΑII

Officer Contact For further information on this report item, please contact: Mr Hywel Jenkins – Director of Finance and Corporate Services 01639 763251 E-mail: h.jenkins@npt.gov.uk Mr David Rees – Head of Financial Services 01639 763634 E-mail: d.rees1@npt.gov.uk Mrs Sue Gorman, Chief Accountant - Financial Services 01639 763937

E-mail: s.gorman@npt.gov.uk

Appendix 1

Basic Amount of Council Tax 2017/18 (Band D)

Community Council Precept	Town or Community Council	Community Council Precept	Council Tax Base (band D)	Community Council Tax	NPTCBC Council Tax	Total
2016/17		2017/18		2017/18	2017/18	2017/18
£35,535.00	Blaengwrach	£35,535.00	355.53	£99.95	£1,443.30	£1,543.25
£220,143.00	Blaenhonddan	£220,143.00	4,527.93	£48.62	£1,443.30	£1,491.92
£140,360.00	Briton Ferry	£140,360.00	1,831.25	£76.65	£1,443.30	£1,519.95
£88,000.00	Cilybebyll	£90,000.00	1,855.58	£48.50	£1,443.30	£1,491.80
£19,138.30	Clyne and Melincourt	£19,903.83	253.84	£78.41	£1,443.30	£1,521.71
£357,452.00	Coedffranc	£362,222.00	3,455.15	£104.84	£1,443.30	£1,548.14
£44,078.00	Crynant	£44,500.00	658.04	£67.63	£1,443.30	£1,510.93
£29,000.00	Cwmllynfell	£34,000.00	373.23	£91.10	£1,443.30	£1,534.40
£44,354.00	Dyffryn Clydach	£44,354.00	1,075.22	£41.25	£1,443.30	£1,484.55
£132,203.66	Glynneath	£134,649.37	1,353.26	£99.50	£1,443.30	£1,542.80
£68,953.00	Gwauncaegurwen	£72,400.00	1,309.16	£55.30	£1,443.30	£1,498.60
£330,000.00	Neath	£330,000.00	6,372.35	£51.79	£1,443.30	£1,495.09
£21,021.00	Onllwyn	£21,441.00	354.91	£60.41	£1,443.30	£1,503.71
£34,170.00	Pelenna	£38,416.00	384.77	£99.84	£1,443.30	£1,543.14
£163,700.00	Pontardawe	£167,500.00	2,386.10	£70.20	£1,443.30	£1,513.50
£46,200.00	Resolven	£47,561.00	717.86	£66.25	£1,443.30	£1,509.55
£47,450.00	Seven Sisters	£47,450.00	613.39	£77.36	£1,443.30	£1,520.66
£27,000.00	Tonna	£27,000.00	826.49	£32.67	£1,443.30	£1,475.97
£63,750.00	Ystalyfera	£63,750.00	1,565.69	£40.72	£1,443.30	£1,484.02
£1,912,507.96	Total	£1,941,185.20	30,269.75			

Basic Amount of Council Tax - NPT plus Community Councils 2017/18

Community	Band A	Band B	Band C	Band D	Band E	Band F	Band G	Band H	Band I
	£	£	£	£	£	£	£	£	£
Blaengwrach	1,028.83	1,200.31	1,371.77	1,543.25	1,886.19	2,229.14	2,572.08	3,086.50	3,600.92
Blaenhonddan	994.61	1,160.39	1,326.15	1,491.92	1,823.45	2,155.00	2,486.53	2,983.84	3,481.15
Briton Ferry	1,013.30	1,182.19	1,351.06	1,519.95	1,857.71	2,195.49	2,533.25	3,039.90	3,546.55
Cilybebyll	994.53	1,160.29	1,326.04	1,491.80	1,823.31	2,154.83	2,486.33	2,983.60	3,480.87
Clyne and Melincourt	1,014.47	1,183.56	1,352.63	1,521.71	1,859.86	2,198.03	2,536.18	3,043.42	3,550.66
Coedffranc	1,032.09	1,204.11	1,376.12	1,548.14	1,892.17	2,236.21	2,580.23	3,096.28	3,612.33
Crynant	1,007.29	1,175.17	1,343.05	1,510.93	1,846.69	2,182.46	2,518.22	3,021.86	3,525.50
Cwmllynfell	1,022.93	1,193.43	1,363.91	1,534.40	1,875.37	2,216.36	2,557.33	3,068.80	3,580.27
Dyffryn Clydach	989.70	1,154.65	1,319.60	1,484.55	1,814.45	2,144.35	2,474.25	2,969.10	3,463.95
Glynneath	1,028.53	1,199.96	1,371.37	1,542.80	1,885.64	2,228.49	2,571.33	3,085.60	3,599.87
Gwaun Cae Gurwen	999.07	1,165.58	1,332.09	1,498.60	1,831.62	2,164.65	2,497.67	2,997.20	3,496.73
Neath	996.73	1,162.85	1,328.97	1,495.09	1,827.33	2,159.58	2,491.82	2,990.18	3,488.54
Onllwyn	1,002.47	1,169.56	1,336.63	1,503.71	1,837.86	2,172.03	2,506.18	3,007.42	3,508.66
Pelenna	1,028.76	1,200.22	1,371.68	1,543.14	1,886.06	2,228.98	2,571.90	3,086.28	3,600.66
Pontardawe	1,009.00	1,177.17	1,345.33	1,513.50	1,849.83	2,186.17	2,522.50	3,027.00	3,531.50
Resolven	1,006.37	1,174.10	1,341.82	1,509.55	1,845.00	2,180.46	2,515.92	3,019.10	3,522.28
Seven Sisters	1,013.77	1,182.74	1,351.69	1,520.66	1,858.58	2,196.51	2,534.43	3,041.32	3,548.21
Tonna	983.98	1,147.98	1,311.97	1,475.97	1,803.96	2,131.96	2,459.95	2,951.94	3,443.93
Ystalyfera	989.35	1,154.24	1,319.13	1,484.02	1,813.80	2,143.59	2,473.37	2,968.04	3,462.71
All other	962.20	1,122.57	1,282.93	1,443.30	1,764.03	2,084.77	2,405.50	2,886.60	3,367.70

Appendix 3

Basic Amount of Council Tax - NPT plus Community Councils plus Police 2017/18

Community	Band A	Band B	Band C	Band D	Band E	Band F	Band G	Band H	Band I
	£	£	£	£	£	£	£	£	£
Blaengwrach	1,174.33	1,370.06	1,565.76	1,761.49	2,152.93	2,544.38	2,935.82	3,522.99	4,110.16
Blaenhonddan	1,140.11	1,330.14	1,520.14	1,710.16	2,090.19	2,470.24	2,850.27	3,420.33	3,990.39
Briton Ferry	1,158.80	1,351.94	1,545.05	1,738.19	2,124.45	2,510.73	2,896.99	3,476.39	4,055.79
Cilybebyll	1,140.03	1,330.04	1,520.03	1,710.04	2,090.05	2,470.07	2,850.07	3,420.09	3,990.11
Clyne and Melincourt	1,159.97	1,353.31	1,546.62	1,739.95	2,126.60	2,513.27	2,899.92	3,479.91	4,059.90
Coedffranc	1,177.59	1,373.86	1,570.11	1,766.38	2,158.91	2,551.45	2,943.97	3,532.77	4,121.57
Crynant	1,152.79	1,344.92	1,537.04	1,729.17	2,113.43	2,497.70	2,881.96	3,458.35	4,034.74
Cwmllynfell	1,168.43	1,363.18	1,557.90	1,752.64	2,142.11	2,531.60	2,921.07	3,505.29	4,089.51
Dyffryn Clydach	1,135.20	1,324.40	1,513.59	1,702.79	2,081.19	2,459.59	2,837.99	3,405.59	3,973.19
Glynneath	1,174.03	1,369.71	1,565.36	1,761.04	2,152.38	2,543.73	2,935.07	3,522.09	4,109.11
Gwaun Cae Gurwen	1,144.57	1,335.33	1,526.08	1,716.84	2,098.36	2,479.89	2,861.41	3,433.69	4,005.97
Neath	1,142.23	1,332.60	1,522.96	1,713.33	2,094.07	2,474.82	2,855.56	3,426.67	3,997.78
Onllwyn	1,147.97	1,339.31	1,530.62	1,721.95	2,104.60	2,487.27	2,869.92	3,443.91	4,017.90
Pelenna	1,174.26	1,369.97	1,565.67	1,761.38	2,152.80	2,544.22	2,935.64	3,522.77	4,109.90
Pontardawe	1,154.50	1,346.92	1,539.32	1,731.74	2,116.57	2,501.41	2,886.24	3,463.49	4,040.74
Resolven	1,151.87	1,343.85	1,535.81	1,727.79	2,111.74	2,495.70	2,879.66	3,455.59	4,031.52
Seven Sisters	1,159.27	1,352.49	1,545.68	1,738.90	2,125.32	2,511.75	2,898.17	3,477.81	4,057.45
Tonna	1,129.48	1,317.73	1,505.96	1,694.21	2,070.70	2,447.20	2,823.69	3,388.43	3,953.17
Ystalyfera	1,134.85	1,323.99	1,513.12	1,702.26	2,080.54	2,458.83	2,837.11	3,404.53	3,971.95
All other	1,107.70	1,292.32	1,476.92	1,661.54	2,030.77	2,400.01	2,769.24	3,323.09	3,876.94